OhlLcC

AUTO ACCESSORIES.CO

o MAZDA CX5 2017-
@) SOLID ROOF BARS

MONTAJ TALIMATI  FITTING INSTRUCTIONS MONTAGEANLEITUNG  RIDELLES DE TOIT

&

*Port bagaj tasima kapasitesi 75 kg. olup; *Roof Rack carrying capacity is maximum 75 kg.
ylkleme yapmadan 6nce aracin tavan tasima Please check your vehicle roof maximum carrying
kapasitesinin dikkate alinmasi gerekir. capacity from your car manufacturer

before load roof rack.

*Maximale Traglast unsere Dachrelinge betragen 75kg. *La capacité de chargement maximale est de 75 Kg.
Die freigegebenen Dachlasten der Nous vous prions de vérifier la capacité de

e msnomet TATBEMent ot e votre vt van
) ’ de charger les barres de toit.

M4625933_ Rev01
30 Min. (1) 10.04.2023



PARCA LISTESI
Part List /Teileliste / Lista de accesorios

®

On Ayak
Front Foot / Front Fuss

On Ayak Kapak
Front Foot Cover / Front Fusskappen

1x

Arka Ayak
Rear Foot / Hintere Fuss

R R B R L L
On Ayak On Ayak Kapak Arka Ayak Arka Ayak Kapak
1x Front Foot / Front Fuss 1x Front Foot Cover / Front Fusskappen 1x Rear Foot / Hintere Fuss 1x Rear Foot Cover / Hintere Fusskappen
L L R R

1x

Arka Ayak Kapak
Rear Foot Cover / Hintere Fusskappen

= -

(o

©

Profil Profil
1x Profile / Profil 1x 2x M6 x 25 6x M6 x 15
2x M6 x 20 2x 1x 5mm
® ——
s\

M6

~ ~
x >

|\ e——

Orta Braket Eva / Middle
Bracket Eva / Mittlere Klammer Eva

Max.

75 kg

Max.

165 lbs

80kmih
50Mph

40kmih SR,
25Mph, " )
( N
Wt~
Mph

130kmvh
80Mph

Montaj igin Gerekli Aletler
Required Tools / Notwendige Werkzeuge

@




1) Arabanin fitilini gikariniz. Baglanti elemalarini 1,4 ve 6 numarali deliklere takip anahtar
ile sikiniz.

1) Remove the wick of the car. Install fasteners in holes 1, 4 and 6 and tighten with a wrench.

1) Entfernen Sie die Streben. Setzen Sie die Befestigungselemente in die Lécher 1, 4 und 6 ein und mit
Schraubenschliissel festziehen.

Wy

-l

/

<
)
<
-—

2) Fitili baglanti aparatlarinin lGizerine gelecek sekilde ayni hizadan 1,4 ve 6 nolu yerlerden
matkap ile deliniz. Fitili deldikten sonra ¢ikarilan yere yeniden takiniz.

2) Drill the wick over the fasteners in the same alignment with the drill number 1, 4 and 6. After piercing
the wick, reattach it to the removed location.

2) Bohren Sie die Streben mit einem Bohrer die Position 1, 4 und 6 auf gleicher Hohe der Verbindungsstellen.
Setzen Sie den Streben nach dem Durchstechen wieder an der Stelle ein wo es auf dem Dach entfernt wurde.

®



3) Baglanti aparatlarinin iizerine gelecek sekilde portbagaji yerlestiriniz.
3) Place the roof rail over the fasteners.
3) Positionieren Sie die Dachtrdger (iber das Anschlussgerdit.

|l Orta-Middle P Arka-Rear KM On-Front
Max.10 Nm Max.10 Nm Max.10 Nm
85.5 in-Ibf 85.5 in-Ibf 85.5 in-Ibf
M6 x 10 | 7.3t 7.3 ft-lbf M6x25 7.3 ft-lbf
™)

4) Port Bagaji arag lizerine montaj yerlerinden sabitleyip 1,2,3 nolu civatalar sira ile esit
sekilde maximum 10 Nm olarak arag lizerinde merkezleyerek sikiniz.

4) Fix the roof rail at the mounting points on top of the vehicle then start turning the screw bolts in the
following order ( Bolt #1, Bolt #2 , Bolt #3) and turn the bolts by putting equal force, maximum 10 Nm.

4) Positionieren Sie die Dachreling an den Befestigungspunkten oben auf dem Fahrzeugdach und beginnen
Sie dann, die Schraubenbolzen in der folgenden Reihenfolge zu drehen ( Schraube #1, Schraube #2,
Schraube #3 ) und drehen Sie die Schrauben mit gleicher Kraft, die maximale Kraft sollte 10 . betragen Nm.

ORTA AYAK / MIDDLE FEET/ MITTLERE FUBE ABDECKUNG ON - ARKA AYAK / FRONT - REAR FEET /VORNE UND HINTERE FURE ABDECKUNG

7

5) Port Bagajin kapaklarini kapatip montaj islemini tamamlayiniz.
5) Place the covers on the roof rail feet to complete the assembly.

5) Positionieren Sie die Abdeckungen wieder auf die Dachreling FiifSe um die Montage

abzuschliefien.




